Particle Man
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Particle Man is moving along a number line. He starts at the origin, and his velocity is shown below:
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Let s(t) = position,  v(t) = velocity, a(t) = acceleration
s2)= ale) + Sz vit)dt
O + Ly H2(
v(2)=0
a2)= unotefinedl

3(3) = "

a(®= -4

2) Which answer(s) above change if his starting position is moved from the origin to x = -4?

s(2) = s(0)+ (utr)dt
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3) When is he...
a) Moving to the right? v (£) >0 Left? v(£) <O

(052 (2 (']

b) Speeding up? V(;{:)J A bgw\r( same Slowing down? v (¢) (o id
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4) Does he end up to the right or left of his starting point? \e { l
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